x> —6x+y>=0
X? —6x+9+y*=9
(x—3)* +y*=9
centre at (3, 0) & radius 3.

White Dot
The white dot is wherey =2x—-3 and
X(y +1) = 4 meet.
X(2x—-3+1) =4
X(2x—-2)=4
2x* —2x =4
X*-x-2=0
(x=2)(x+1) =0
Xx=2 or x=-1

(2, 1)

O,

The black dot is where (x-3)*+y*=9 and
y = 2X —3meet.

(x—3)*+(2x-3)*=9
X2 —B6X+9+4x*-12x+9=9

Black Dot

5x*—-18x+9=0
x=0.60r x=3
x=0.6
so y=2(0.6)-3
y=-1.8

black dot at (0.6, — 1.8)

Student 1: Low Excellence

Intended for teacher use only

Grey Line
parallelto y=2x-3

Try y=2Xx-6
X(2x-5)=4
2x* —5x =4
X =-0.64 calculator solver
y=-7.28
(-0.64, -7.28)

O,

Tangent

y=2X+¢C
SO

x> —6x+(2x+¢)* =0
x> —6x+ (2x+¢c)(2x+¢) =0
x> —6X+4x* +4cx+c? =0

5x% —6x+4cx+c2 =0

(-6+4c)* —4x5xc* =0
(=6 + 4C)(—6 + 4¢) — 20c2 = 0
36— 48c +16¢2 —20c? =0
36-48c—4c2 =0
9-12c-¢* =0
¢’ +12c-9=0
¢’ +12c+36=9+36
(c+6)? =45
c+6=16.71
c=-1271 or 0.71

©

tangentl y=2x+0.71
tangent2 y=2x-12.71



